CLASS XII   MATHS ASSIGNMENT

INVERSE TRIGONOMETRIC FUNCTIONS
1. Evaluate:

Cos -1  (cos 7π/6)   +  tan -1  ( tan 3π/4)   +  sin -1  ( sin 2π/3)    (Ans:  11π/12)

2. Solve:

Sin -1  3x/5   +  sin -1  4x/5    =  sin -1  x          ( Ans: 0, 1, -1 )

3. Solve

tan -1  2x   +   tan -1  3x     =    π/4                   ( Ans:  1/6)

4. Solve:

Sin(2 cos-1   (cot(2tan-1  x)  )    =0                 (  ±1 ,  -1±√2 , 1 ±√2)

5.  Find x

3 tan -1     1           =  tan -1     1         +  tan -1   1

          2 +√3                        x                         3        ( Ans:      x = 2

6.If tan -1   x  + tan -1  y   + tan -1   z      =   π/2    then  prove that

xy + yz + zx   =1.

7.Find x

tan-1  (x+1)     +  tan -1  (x – 1)      =  tan -1   8/31.        ( Ans: ¼)

8.Prove that

tan (π/4   +  ½  cos-1   a/b  )    +  tan (π/4  - ½ cos-1  a/b)   =  2b/a

9.Solve:

        Cot -1  x     -   cot -1  (x +2)    =  π/12                            ( Ans : √3)

   10.Find x

tan -1    1- x      +    ½  tan -1   x  =    0                         (Ans;   1/ √3 )

                      1 + x

11.Ifcos -1  x  +  cos -1  y     + cos-1 z    =   π
        Prove that     x2  +    y2    + z2     + 2xyz   =   1

12.Evaluate:

tan -1      3 sin 2α         +  tan-1  ( ¼     tanα )            ( Ans: α  )

      5+ 3 cos2α

13. If cos-1  x/a     +  cos -1   y/b     =   α    then Prove that

x2      -   2xy   cosα        + y2         =  sin 2 α

a2ab                        b2  

14. If   cos-1  x/2    +     cos-1   y/3 = α    then prove that

9x2  -  12 xycosα   + 4 y2     =  36 sin2  α

15.Prove that 2 tan -1        √(a-b)   tanx/2        =       cos-1    b +  a cosx

√(a+b)                                            a +bcosx

 16.Prove that 

        Cot -1  ab +1    +   cot -1  bc +1    +  cot -1  ca +1    =0

                    a – b                    b – c                     c – a

